HSSC CET Group D Question Paper 22 Oct 2023 2nd Shift Shift

1. frerfafaa 4 fama @ = aeeniaa i g,
IH A © ?
(1) faer s wmwin
(2) TSR 3 e
(3) WA 3t wfemm
(4) feeeit siv wfemon
(5) W AE T

2. wfwa sra (fafdn smifr) & dam ® w s b

(1) 3759

2) &

(3) UfEH
(4) TEOfEs

(5) ST < AW

3. TIgHTA | AHISH T e e ufawra # 7

(1)  78%
2) 21%
3) 3%

4) 71%

(5) SO ARl <A TAwd

4. TAofarEa 4 A 9Ra F sfan qrea wwe 47 9 7

(1) T4
(2) =TT
(3) Hemm

(4) REARAR I EAF 2 0
(5) =9 T =W wwa

5. HEMANE F1 3{TAa o A7 g 7
(1) 75 wm gfa w=n
(2) 20 «m yfa #n
(3) 35 um yfa
(4) 25 W ufa we
(5) I = A

TNAVH/E4

a5 el & b ottt 1 SPACE Por oned i Whae
PH #

Whie hy | Il Vinon Jerritories among
the Qollee frige o nimon High Court ?
(h Wit s Hpopichiand

() ajuullighf ppd fanjarat
Ul Ponfuls i Hdfyana
(1) Dol ] Hpyan:

() Fleit git b gt i 9

Thiee war led ol |l Crganism is known as :
(1) Aliinli

() RITH N

P4

(4) Maolee il

{1 Al

(‘) Flaab b bbreifat ot

\Hh“f i 1 | EEN s present in [he

NG

(h TH
() I
() ¥
th I

(5) Mol bt

Wi st fEHEWHIE was the last Mughal
Foanperar sf

(1) Auratip=-t

},‘| Al

(4 el tie!t

(1) Ruhiatis abal Zafar

19) Bl bl ed

Whial 1e i Jaige & 111..“_\ of an ocean ?
(1) FH e s} thousand
';i .”* TIER . [housand

(1) CUTCILER i thousand

“' L ' 1% 3
(o Ml

Hhivusand

|
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6. TSI ﬁ‘:*fmi':fm""f’l feam" fan fy o i 00 | 6 Fihe i 1al Kite Festival’ is celebrated
(1) 14 Fda Ll | i}y 3uiarat on which day ?
(2) 14 Wil I | {1 t1ovember
A 1) | pehriary
(3) 14 S1& I 4 4 tanuary
(4) 14 femm (1 |4l fyecember
(5) I E 2 W () byl attempted
. .. , . 7 bl Panchavat, what are the elected
7. UM UwEa ¥ faifaa a2 oaen weona b ::" St '” ”](Lmq
LI ealled «
(1) @€ §e# (99) (1] “4if Members (Panch)
[2) W (| t',ur."v!f’h
3) =fma (1] Seetetary
i ()] Fiihetllors
(4) . ) [ prod r-‘?f-yvlp?Cd
(5) ST AE <A1 ="
B, | vl year was the 7th Economic Census
8. 741 sufeia SR fanm A feifora a0 nd ) It 2
(1) 2021 - at21
(2) 2018 13l 2b18
(3) 2022 ‘v’ Slile i)
(4) 2019 (1) 2Hid
~ o 2] HE et )
(5) A o Awa ) M tempted
o . , v, Wit Il Hie of the following is India’s Central
o. fr=fafaa o @ wr-wn vra = ddin Afdn e 1, st 1 b h:'.fit‘;ti(c)m, \\'Eich controls the
S Rt Fqu 1 wifaa fifa @ e e B Ittty policy of the Indian rupee ?
(1) W frsre A (RBI) ”“ Bisetve Bank of India (RBI)
) i F fAm (DFS) [ ’i‘i.,. Department of Financial Services
» . ‘l‘(,"
(3) WFWWV’WUW’?W”’.E Bl I :‘Tv“nynn! Bank for Financing
(NABFID) . "“‘t""‘”,‘,!'UCtUI‘C and Development
(4)  WEE 22 4 (SBI) a \BFID)
e - (S} EY PN F i .
(5) =W AE 2 AW (& e Bank of India (SBI)
L I ] attempted
10. fae=Afafma 4 A faa w &1 ursia am fofo #7 10 Balings 18 the anci :
.. ! > e ancient name of which one of
(1) @ sifzom e il ttg state b
(2) dfwerrg :': )"”""""l Odishg
. ) .;n,"[ ”?\([11
(@) A 0k
. EU Attataka
@) = ) Bifind
(5) A 2 Awa B Myt e
. attempted
TNAVH/ E4 0 wred @ 4 2enat | SPAGE Ok Wi anes
K Page 3
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11.

12.

T T Anfaa T T FEF %

sff ST ST ® 2

(1) feoraa wew

(2) 9 UE FEER

(3) UeE

(4) oot

(5) ST o =ed

TRe Sfaue § Fa fraa Hifas e E?
:;: :ﬁ o Tt\tah*\
(3) = Ehan\?

@) B

(5) W TEl < 9

13. ‘G wE aRadee AR A A R
(1) THea™ SHoaed 9
(2) IO
(3) WUTEEE U9 HEF ATl
(4)  TUTEEF SETE A
(5) S @ < 9w%d
14. % 99 fefatma 4 3 ffm ma wdw-Ta €2
(1) ZWHeA
(2) @A weA
(3) TEHA
(4) W UE FYET
(5) FAAE 7 Aed
15. #19 94a 9 v 4 9= Al & wram A
A AF AT T2 TE A 7
(1) W@
(2) +ZTA
(3)  wIE
(4)  fazmm
(5) 3 AR 2 A
TNAVH/E4

11.

12.

13.

14.

15.

20 aored an fea0 201t | SPACE FOR ROUGH WORK

Which State/Union Territory is known as
‘Crown of India™?

(1) Himachal Pradesh
(2) Jammu & Kashmir
(3) Punjab

(1) Delhi

(5)  Not attempted

How many Fundamental Rights are there in
Indian Constitution ?

(1)  Seven

(2)  Nine

(3)  Three

(4) Six

(5 Not attempted

‘National Rural Livelihood Mission’ has been
renamed as :

(1) Deendayal Antyodaya Yojana

(2)  Annapurna

(3) Pradhan Mantri Gram Sadak Yojana
(4) Pradhan Mantri Awaas Yojana

(5) Not attempted

Rouf Dance is a famous folk dance form of
which one of the following States ?

(1)  Uttar Pradesh

(2) Andhra Pradesh

(3) Rajasthan

(4) Jammu & Kashmir

(5)  Not attempted

Who was the first Mauryan ruler who tried to
take his message to the people through
inscriptions ?

(1) Chanakya

(2)  Chandragupta
(3)  Ashoka

() Bindusara

() Not attempted
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16.

17.

HicTH-1 1 S TS TEI3T & T Shieq-11 1

FrEl &1 e sHifeu | s
?ﬁ?-m—l HICTH-T1

(@) I (i)  STeT sTavimo

(b)  STEEH (i) oIS

() HaIm (iii) @ a & ufEged

() OEEE (WATE)  (iv) Sl @ uREe

wer faswes =1 937 Fifew)

(1) (a)-(1), (b)-(1), (c)-(iii), (d)-(iv)

(2)  (@)-(), (b)-(11), (c)-(iv), (d)-(iii)

(3)  (a)-(i), (b)-(iii), (c)-(ii), (d)-(iv)

(4)  (a)-(i), (b)-(iv), (c)-(i), (d)-(iii)

(5) W < =9

fr=fafea 9§ 9 SH-91 themtes £ 2

(1) TEemEEfas

-~

(2) SRR

(3) dr=

(@) Tifeaq aEEEEe
(5) ST & o 9Rd

16.

17.

Match structures given in Column-I with
functions given in Column-II.

(a)
(b)
(c)
(d)

Column-I Column-II
Stomata (i) Absorption of water
Xylem (ii) Transpiration

Root hairs (iii) Transport of food
Phloem (iv) Transport of water

Choose the correct option.

(1)
(2)
(3)
(2)
()

(a)-(ii), (b)-(i), (c)-(iii), (d)-(iv)
(a)-(i), (b)-(ii), (c)-(iv), (d)-(iii)
(a)-(i), (b)-(iii), (c)-(ii), (d)-(iv)
(a)-(ii), (b)-(iv), (c)-(i), (d)-(iii)
Not attempted *

Which of the following is an antibiotic ?

(1)
(2)
)
(4)
(5)

Streptomycin
Alcohol

Yeast

Sodium bicarbonate

Not attempted

18. WW@W @TWWWWW@@H 18. Advance sunrise and delayed sunset is
T fros FRU A B 2 because of the phenomenon of :
(1) mmmm (1) Atmospheric Refraction of light
2) T’T STt TEd (2) Total Internal Reflection
3) MWWW (3) Atmosgheric Reﬂection of light
) T T (fed T (4)  Scattering of light (Tyndall Effect)
5) I 3 & e (5) Not attempted
10. fFrefafaq i@ s @ T B2 19. tS}ie;)tH;a:nr;c;n-communicable disease from
(1) & (1)  Cholera
2) e A (o 9eH) (2) Chicken pox
(3) Tafes (49FIT) (3)  Tuberculosis
@) quﬁg (4) Diabetes
(5) T = (5)  Not attempted
20. wafrm fs B 2 7 20. Malaria is caused by :
(1) ﬁmul (1)  Virus
@ FE (2)  Fungi
() e :::; :;l‘otozoa
acteria
g; jﬁjr?iﬁém e (5)  Not attempted
TNAVH, Ea ~o 914l  ferw zer | SPACE FOR ROUGH WORK Page 5

(¥ Scanned with OKEN Scanner



21. Prefafas dd qﬁ:{m?ﬁawﬂ IEERY, 21. :K]/]l:;,)lho:r]\)()nf the following does not belong !
(1) feo (1) Deer
(2) Ah (2) Yak
(3) e @ (3) Mountain goat
(4) fem %53“ (= ) (4)  Snow leopard
(5) IR A e (5) Not attempted
22. e gan st fFefatad B T BT | e &2 22. The dough of bread rises because of :
(1) T oA § o (1)  Salting
) @ER (FR) Fiferret # 3f6 €1 H (2)  Growth of yeast cells
(3) TEH e & Fm (3) Fine grinding
4) TI%F'\ g (4) Kneading
5) I Tl <A1 =Rd (5) Not attempted
23. TreAfGfEa H 3= a'{{[,@?l frefria €7 | 23, Identify the non-biodegradable item from the
(1) [F = following :
2) m (1) Tin cans
B Em 2) Wood
@ zz: \;ao::lrcn clothes
6) SR < e (5) Not attempted
24. AE____ FWEHE W@ FAA MG @@L | e o
) e . mgat. ecause it only eats
(2) Tl (1) Carnivore
(3) Hash (2) Omnivore
(4) IEER (38) Cattle
(5) TR Tl < =med (4) Herbivore
(5) Not attempted
25. IS HA MU T F fau uge T @ §
ANV FAA 2] 3H FER T & fou 29d 25. Pure gold is not suitable for making jeweller
A941 e s 2 Itisalloved with __ or -
(1) i, =it make it hard for making ornaments.
) =i, (1) Zi.nc, Silver
) ."(" , T ti: /S\ilt\l: i,n(i:L?ripeCr opper
) =, Tmlqu:mq (;) Silver, Aluminium
(6 =T T R (5) Not attempted
TNAVH/E4 ¥ B1ef % ferw zarrer / SPACE FOR ROUGH WORK Page
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26.

Match the following :

11 (ueref ) I(Objects) I1 (Materials)
DTS (@)  Shoes (1) Paper
THTd (b)  Table (i1)  Steel
ELE! (c) Notebook (iii) Leather
[SEXE] (d  Tumbler (iv)  Wood
Choose the correct option.
(1) (@)-(i), (b)-(iii), (c)-(i), (d)-(iv) (1) (a)-Gi), (b)-(iii), (¢)-(1), (d)-(iv)
@ (@)-(ii), (B)-(v), (©)-(), (@)-(i @  (a)-(i), (b)-(iv), (©)-(), (d)-(i)
) (@-(v), (1;)-(1_11, (c)-(ii), (d)-Gi) 3)  (a)-(iv), (b)-(ii), (c)-(iii), (d)-(i)
:‘; ‘;‘T‘% éq:;’g;‘g:;r:‘;’_\;" @) (@)-(i), (b)-6), (©)-v), (@)
(5) Not attempted
27. W AR HHA T I Bre 99, fo Fo v .
o 8 fo o s g7 | 27 Short plants with grecn end tender s
1 3 of: ..
2) @TE (1)) Trees
(3) IR ol (2). Shrubs,
(4) R (3) - Climber's
(5) W S A (4) Herbs
(5) Not attempted
28. & fort fuew | S 78 v Wehret el ¢ A U
;ﬁggq fearh <@ &1 fopg T1 & weerwr § waifyss | 28. When a white light passes through a prism, a
; . . ) o -
mﬁiﬂ_g? Zg;(ggnn;slf;bsen ed. Which colour of light
(1)~ Href (1)  Yellow
(2) Hren g (2) Blue ’
(3) ST (3)  Violet A v
(4) - @ (4) Red ,
(5) S =E T =7ed (5) Not attempted
29, UBE['E{ ?‘m/g\ﬁﬁ 3 £l _E:qf{ i H S 29. The blood has which fight against
FET AT & fog @gd/asd € germs that may enter our body. o
(1)  weerem (1)  Platelets
(2) mmm@ (2)  Red blood Carpuscles
@) fasiraf: (3)  Haemoglobin
4)  v3q T T (1) White blood Carpuscles
(5) = e = = (5 Not attempted
TNAVH E4 o o7l  fero <erre1 | SPACE FOR ROUGH WORK Page 7
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30. Eﬁ%ﬁma’:ﬁﬁm%@ f H 9 form / 30. For lh'C process of rusting of [ron, the presence
G 3 £ W%? of which is required ?
(1) e s (1)  Oxygen only
@) v i st (2)  Water and Oxygen both
. (3) Oilonly
3 Had
Gl (4) Water only
4 had o
) i (5)  Not attempted
(5) SR E oA Amed
. . .. 31. Kunal walks 90 metres towards East. From
31. F@ 90 HA 4 H AN Idl €1 FEl H g% there he walks 60 metres back towards West.
60 W%Wﬁmaaﬁl%l $H$ma€aﬁ Then he turns right and walks 40 metres.
- s 5 . . How far and in which direction is he from his
qga 40 HiX T A AR(F :
7o 40 - mi: %'j'e' ﬁg‘ b starting point ?
feraet g2 au !
= . (1) 40 metres, North-West
(1) 40K, ST-IR ‘ (2) 50 metres, North-East
(@ 50 e, IH-4 \id (3) 60 metres, East
(3) 60 ¥, T (4) 30 metres, North
(4) 30 HiE, IW Ao (5) Not attempted
(5) SWAAIMARE |de ~ Lo
32. A set of English letters is given below in a
B . 5 . jumbled order. Select the combination of
3. :fﬁ . 31&1’(‘[? El.ﬁiﬁl ‘Wﬁﬁ?ﬂ'ﬂ?ﬂ numbers so that the letters arranged
¥ HEmsdl & 39 HANE H =99 A o AR accordingly will form a meaningful word.
& o] A FH T UH ol I 91 | E L P 1 o cC
E L P I 0 C 1 2 3 4 5 6
1 2 3 4 5 6 1) 352461 PolLICE
(é) 3,5,2,4,6,1 @ 352641 PolLcCTE
) 37 5) 27 67 4’ 1
. @) |34.526 1 3) 3,4,5261 PToLCE
(4 2,1,5,4,3,6 4 215436 LToLTPC
(5) Wqﬁ .‘am.a_‘g~| (3) Not attempted
33. @M ’Wﬁﬁlﬂvﬁm ifeu | 33. Find the missing term in the series.
4,27,16,125,36, 2 _ 64.729 4,27,16,125,36, 2 , 64,729
(1) 216 (1) 216 27, 33' L{l‘ 55\ (Y03
(2) 343 oy 343
(3) 512 (3) 512
@ 121 @) 121
(5) I TR < T (5) Not attempted
TNAVH/E4 % B & fAv Z2rme / SPACE FOR ROUGH WORK Page
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o e FETT H ‘PHYSICS’ F1 RIAUKEL: | 34

34. . . 1
ﬁ:{@‘lﬁfﬂl?, al ‘BIOLOGY’ &l 3H ey § 34 N a certain code language ‘PHYSICS’ is
5 e H &g Written a5 ‘RJAUKEU’. How will ‘BIOLOGY' be
feran ST ¢ Written in that code ? Py
(1) DKQNQIA 4 DKONQIA 451G
(2) DKQOQJA 2 Y 16 25110 3 1 ()
(3) DKQPQJB .D_I\QOQ‘JA ARIAL K EUL
(3)  DKQPQJB
(4) DKQMQIB @) 1§ 1o 1A W S 21
A = DKQMQIB
5) SRl & ed < \S s
) (5)  Not attempted 24 1S '8
" A, B, C, D, E 7 F S &1 iR Je F0h whfm | 35, 4 s 7>1 K.B NOTIA
T ~ o . ,B,C, D, are standin ' faci
-@’3%’, .« 7@1 ?%@W‘q el E C’ﬂT{ Northcnth nee::r;ssarily in the sgaur;lfe1 :;\(;ef:m‘n[ig'
F A H TIL A IR B fFm ¢ gl ‘C A'FH and F’ are in the centrg, and ‘A’and B’ are at
mm_&; WE@T%’I ‘B’éFBTEHETs;' 8 . the ends. ‘C’ is standing on the immediate
0 . AN & Tse? left of ‘A’. Who is standing on the immediate
right of B’ ? A
2 € D C
@ F 2 ¢ 8 D FE c*h
. . (3) E — g
(5) S AL T AEd
4 F

(5) Not attempted

36, S iR IEH AR A fred 1 s fau ) fam
FYF F T T TC AR d 7 I *
m A HHM AMd 9291 9 36. Two statements are given, followed by two

fum & w7 Wi e &, Foi w1 wE s conclusions I and II. Assuming the
ﬁwﬁﬁqmmﬁh%aﬂwm dehaTd =9 9 feperan statements to be true even if they seem to be
%/ﬁﬁﬁ%7 at variance from the commonly known facts,

’ . e decide which of the conclusions logically
U EEATRGIERS s"\/ follows/follow from the given statements ?

FS @ AT 4 . Statements: Some flowers are roses.
e L qaft LGIER T 1 Some roses are red.

I 9 T A E| Conclusions: L All roses are flowers.

II. Some flowers are red.

(1) aa frerd 11 Frerera €|

(1)  Only conclusion II follows.

(2)  fFremd 1 i xr S Freved €1 (2) Both conclusions I and I foll
. . < oth conclusions I and II follow
3) A frerd T3 & 1 fAeaa g1 : '
:4) . I 31 & 5 (3) Neither conclusion I nor II follows.
) Hhad I?.EF.. g1 |:"|\$<—'“” (4) Only conclusion I follows.
(5) ST HEI <1 "Mled " (5) Not attempted
37. fqum %1 =m Fifew) 37. Find the odd one out.
(1)  =wem (1)  Pen
2 = (2) Eraser
B) == (3) Book
@ 3 (4) Pencil
5 wRE . (5) Not attempted
m o o ferw 22T/ SPACE FOR ROUGH WORK Page 9
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Q) R STITT Y P

38.

39.

40.

41.

P, 'Q’, R, ‘S’and T’ are five persons of a famj),
‘P’ and ‘R"are brothers. ‘T’ is uncle of ‘Q’, «
is the son of T". ‘Q’is the sister of ‘R". How |,
P related to S’ ?

(1)  Father

12y  Cousin

(3)  Uncle

(4)  Brother

(5) Not attempted

If every second, fourth Saturdays and aj
Sundays are holidays in a 30 days montj
beginning on Sunday, then how man,
working days are there in that month ?

(I) 21days
(2) 24days
(3) 22days
‘jﬂf)’ 23 days
(5)  Not attempted

Choose the pair of words in which the words
are related in the same way as in the given
pair of words.

Bachelor : Spinster

%1

Horse : Mare

(2)  Nun : Sister

(3)  Tutor : Teacher
(4) Lady:Woman
(5)  Not attempted

Harish bought an old Scooter for % 4,700 and
spent ¥ 800 on its repairs. If he sells the
Scooter for ? 5,800, his gain percent is :
5> 1,
1
10%
(3)  12%

W

—

@ A%
(5)  Notattempted

38. @qﬁaﬁ“‘ﬁaw oy F AT RS g
SR s 1T O
FYREI Q) R A A€ Fu SNDS Wit
Hafm g2
(1) fom
@) wym
@) ==/

' :(41 "

(5) SR TEl o7 Ted

30. i TR § Wiy & A fRe 30 fA & R g
TEF T, 219 wiFaR au 9 THER A srasww @
58 Te § foad sHfcam €2
1y 21f"

2) 2a4fsm .
(3) 22f=
4) 23f=
(5) I T <1 9ed

40. =H V-7 F IR F 5 v 36 WER Helftd
T 53 fF fau moym-gm A ¥
ﬂﬁaﬁ?ﬁﬂﬁm ’
(1) =
(2)  HzAfEE 9
(3) =u-fou= . oy
(4) Qf?ﬁﬂﬁm‘l
(5) = 7 ZA 9wq

41. T A UE T T2 4,700 § wi s e
HHA 2 800 T fau1 afz ag gy e g
? 5,800 a9 A T0E 7Y Yfqug .

) oo 9o
(1) 5% seee

, 6o
(2)  10% “W
(3) 12%

,;"

(4) aly, k’ \/\

7

TNAVH/E4

¥ W14 & o1t 2errer / SPACE FOR ROUGH WORK
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an. -q-a; m if, L’Al»:n" T‘:] 7ir-’]] 'shl AR ‘” ” i i 49

) a ) I (| (he tatio ol the number of boys to
4' 53 3w ‘:I R .“m o ".'{. Hparem ad e Wi i of girils s 40 5. When 100 girls
qE AT O ¢ 7 WO T A0 oy g ) b b | (ool the ratio becomes 6 ¢ 7. How
(1) 150Q ' Wi | [here in the school ?
(2) 1200 AT "n' <
) —
(3) ](‘)()(] l .I ' i 6 " ) ‘oo
@) 1800 ST ; [ — S©
.o, .~ ‘,S
(5) I el &A1 | [ ol e,

[ il atiempted
43, TF 3T FETEA 460 T/, &1 A giyql) ofd

T@E! ek A 15% 3E B, W@ w4 i) ayug an | A9

Foie of a rectangle is 460 sq.m. If the

a"{gﬁ?ﬁﬁ]?') et |.‘. {0 more than the breadth, then
" i fp inong the following is the breadth of

(1) 26 HE e l:'l'!t‘n“ ?

(2) 34.5¥ /\7\ (] 4B mepres

(3) 20 "X e\ (¥ {9 metres

; () |
(4) 15¥=H @v ) et
(5) = & Awd () |2 petres
(4 ol atlempted
44, TF e U A A 1S @ W g e i o,

T =3 & o0 frg B3 ¥ Traf ' 44, A niitf can do a job in 15 days. His father
f‘m'ﬂm'ﬂwa H 20 e aa & sl s {ili 44 days and his son finishes it in

TH2s5 faa I L HEAl oA et qan W e v [Tow long will they take to complete
F , 38 FA BN G Fw G e g ofi (he il ) Hhey all work together ?
) WOf’ﬂ (1) seucy 6 days

(2) = 6.4 foq il ,,'."1,\,‘~i11\axl(rl_\' 6.4 days

(3 7fm
4) ofmasy

(4)  f HHYR

(1) ki (han 6 days
("} (et abempted
(5) = 7 = A

) 11 (ysa( R |
‘ Al L [ | b T V1089 = x7 + 141, then the
9. 72142627 4 Jiono = x* 4 141 B A A viliie il y i A 19
iC i =
] N oo Mt o S Iy
M) 505 W T3
(2) 25 o X
B) 5 W ‘ ) (L= D()'\ M
@) 125 1 -

i i acmpted —
. ' ‘ 1 € 2 o)
. — Page 11

) 3 77 a1 e
\ =
TNAVH/E4 w0 el a fearr e 1

PACE ORI VK

|4 der N
1 —
--‘ 6

b 'y
‘Cb
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a6, 3Fi4,0,3, 7.8 T A -3 THJ 79 5

47. T F MG H S22 3: 4 1 T g
F H, T FR 5N o T gwdi § s g
(1) 4:3:2
) 4:3:6
B 6:4:3
(4) 2:3:4
(5) W TE A =

48. I HE T 10 96 § A A SR T, 6w =
T AMGE T E
(1) 5%
2)  10%
3) 20%
4) 8%
(5) I @ TN A

49. 50 HENAl F1 A 38 21 Afz 4 Hensi 45 a9
55 #1721 {220 =m a1 9 7+ densii @ siea o
AL

() 37 ,

(2) 37.5
(3) 37.52
(4) 36.5

TNAVH/E4.

TA-B-T e FA: € (TE s UF an #
T ) -

(1) 3740.3047

L3704

(3) 7430,3047

(4) 4370, 4307

(5) SWTEl < e

(5) IR A <Al AwA

46.

47.

48.

49,

The greatest 4-digit and the smallest 4.q;
numli)(rrs; formed by the digits 4, O 3, 7 (ea
digit used only once) are respectively :

(1) 3740, 3047
(2) 7403,3704
(3)  7430,3047
() 4370, 4307
(5) Not attempted

The speeds of three cars are _in the rat
2 :3:4. The ratio between the time taken:
these cars to cover the same distance is :

(1) 4:3:2 |L! glg
(2" 4:3

'(2) 6_:4:3 C \‘\ 3
4 2:3:4

(5) Not attempted

If a sum becomes its double in 10 years, the
the annual rate of simple interest is -

1 S% o
poe oo T e
(3) 20%

4) 8%

(5)  Not attempted

The average of 50 numbers is 38, i
m.lmbers 45 and 55 are excluded, then w!
will be the averag
numbers ?

(1) 37
42 375
(3) 37.52

ge of the remainr

(1) 365

(5)  Not attempted

s
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51.

52.

TNAV
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50.

A 3 763,000 T FUE TR 3w i g |(50.) A
g e < 1,08,000 T A B A SR A WA}
e afe ad F 3 W e S waE w0 @, @

fFdd TTE & 9% B 3 WERR 2

' (1)
(1 4
2) S el
3) 6 (3)
@) 3 (4)
(5) ST el <1 = (5)

5

3

Started a business with T 63,000 and i
Joined afterwards by 3 with T 1,008,000, /\fu r
how 11y my months did B join if the profits
the end of (he year are divided equally ?

GV ooo \o§ 022

1o oo rfls"/"y

Not attempted

——

51. o fafem S@msd #1L.C.M. 120 ¥ fy= "emeif | 51. The L.C.M. of three different numbers is 120.

§ {31 9 987 31 dF 9@ 1 H.C.F. & &l

gl /
(1) 12
@ 24
(3) 35
(4) 8
(5)

I TEI <A AT

H.C.F.?
(1) 12
(2) 24
2 35
4 8
()

Which of the following cannot be their

Not attempted

52. 7 28.80 YA fE.m. amd 2 T 22.80 ufd fw.m. g | 52. In what ratio, rice at ¥ 28.80 per kg and rice

A T s 4 faemd s it fagon 1 qea
% 25.20 ¥fa fa.m. 219w ?

at ¥ 22.80 per kg be mixed to get a mixture
worth ¥ 25.20 per kg ?

M 23 18 8° 1 1. %o
(]) 2:3 \ /
2) 3:4 1§20
(2) 3:4 o
(3) 5:3 @ 5:3 3-bo 2+ beo
4 1:3 4y 1:3
(5) =W AE @ 174 (5)  Not attempted
m’ E4 ?qsaﬂdaihuwm/spACE FOR ROUGH WORK %O 1%130
26 M{P P /
" I?j A= {o 1.0
& /L "
~ ’ w
¥ Hhy M
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)Y HTS0%, Ma:h i 63. I 10% of (a+b)=50% of (a—Db), thena: bis -

53. AR (a+b)® 10% =(a ) LA

M5:2 atb 1y = a-b *ﬁz
(1) 5:2 [
2) 2:3 () 2:3

aAb -q4b= X

3) 3:2 3) 3:2 s bog
(4) 1:2 (4) 1:2 o= ’_S;L
' . R
(5) SW T e (5) Not attempted -

54. X 8-900 1 TR 10% ifir . 54. In how many years will a sum of ¥ 8,000 at
TR HT0,261 W i, SFelfeh = Wi BHIE Hafoq 10% per annum compound interest,
S compounded semi-annually become T 9,261 ?

1 1
m 17 = (A 17 years
8000 - (o\
1 1 Qb %
) 23 (@ 23 years | ‘
’ 2 (V)
] PEELLN)
(3) 2 =d 1 A
2 (3) 27 years y
by |
1 . 3 ¢
(4) 1— gg 1 8 g
3 1— v
(4) 13 years ﬁ
(5) Not attempted
§5. #ME foen 3 A4 a9 SA 5 9 e T & T , llic cvling
55. A solid metallic cylinder of base radius 3 em
am fometr vig amm o faii 3
T A W T FeAE i and height 5 cm is melted to form cones, each
I 1 B a9 aMr e | fasdf. &1 =1 yam of height 1 cm and base radius 1 mm. The
B VIT«TI F1HN T number of such cones is :
(1) 1350 (1) 1350
(2) 4500 (2) 4500
(3) 13500 @) 13500
(4) 450
(4) 450
5) Iz A
5) (5) Not attempted
TNAVH/E4 ¥ @12 @ fe10 Terrer / SPACE FOR ROUGH WORK Page 14
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k1™ \\eo
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Select the alternative which best describeg

6- the underlined idiomatic expression.
you may rush from pillar to post, but you
stand no chance of getting what you ;\'ant
without hard work.
(1) rush in all directions and suffer mych
harassment
(2)  go toall post boxes and post offices
(3 gotomany offices and post letters
(4) bevery busy
(5) Not attempted
57. Choose the correct alternative to improve the
underlined part of the following sentence. If
no improvement is required, your answer is
(3)-
You will face many defeats in life but never
let themselves be defeated .
(1) yourself be defeated
(2) yourself be defeating
(3) No improvement
(4)  themself defeated
(S)  Not attempted
S8. Fill in the blank with correct form of Verb.
Time and tide for none.
() waited
) waits
(3) waiting
@) wait
(5)  Not attempted
k
TNAVH/ E4

59,

60.

61.

N

Pick Out the correctly spelt word,
0)
(2)

l(:mpcstllOLlS
tempastuous
(3) tempestus

(4 tampestuous

() Not attempted

Pick out the antonym of the underlined word
in the following sentence.

He was afraid of losing the match.

(1)  nervous
(2) shaken
(3) confident
(4) hesitant

(5) Not attempted

Pick out the part of the sentence which has

an error. If there is no error, your answer is
(3)-

The property / was divided /

(A) (B)
among the two brothers .
(C)
(1) (B
(2) (€

(3) No error
4 (A)

(5) Not attempted

< @1 o fere 22t / SPACE FOR ROUGH WORK
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62.

63.

ve WHICH DeSl exmyeasnes

Choose the alterﬂa~;—“ direct spmerh
the given sentenc® ™

He told the boy not 10 % 777~

(1) Hesaidto the boy, "D 1T &7 the

(2) He said to the bo¥. ‘Dot sn thers. -

— e

(3)  He said to the boy, "Dom % heme”
(4)  He said to the boy, DA™ = heme

(5) Not attempted

Choose the correct passive voics form o =

following sentence.

He was writing a book.

(1) A book was being wrimen br me.
(2)  He has written 2z booi

(3) A book was being wrimen o =i,

’(4) A book is written bv him

(5) Not attempted

TNAVH/E4

Kearrange the following parts of a SeNen,.,
tabelled as PORS to make a meaningy,
sentence.

P - optimism is cssentis}]
O - it is also the
R - foundation of true progress

S - to achievement and

-

(1)% PORS

S
°
0
®)
~

{4) OQSRP

{5) Not attempted

Find out the synonym of ‘proclaim’.
(1) advance
[2)  declare

{3) license

(4)  progress

o

{5)  Not attempted

TETE = =o=me SPACE FOR ROUGH WORK Page !
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mm%ﬂ?@ﬁaﬁaﬂ%mﬁ%_)

i o
gy 1 I i s er 7w 7' AT T
N 9 (M) =t e 1
3 Z: (2)  Fom rm #
" B)  Haiy s #1
.aq_[ n -
g I (@) Ao s

freAfarEd foereg § frm_fas . (5) I = T A

(513;1%11'@1’@?1'@1 72. 'H g’ gt ¥ fon TEiE ST UE U= T
2 T:R?'qga‘T (1) w==
(3) LERAE (2) =mmE
(4) R (3) fama
(5) SR TG <R (4) fvia ‘ .
(5) =W ARl & Aed
ea. ‘Tfew:’ I TEA MR FAE ' EA oM 2 ) .‘
(1) = 73. ‘& ijmmwmmz-
(2 e (1) =mEE
(3 =HE (2) ’ﬁ"ﬂ
(4) (3) TE
(5) I A <A1 = (4) oA

(5) ST T &A1 Amed
69. “TUF SN SiTel &7 g i fag! | Al

‘ST Y= T HATHE 397 TAEATE] = 7

Faifiar S @19 © 74.
(1) e =1 TOR ST HE TEHA UEE, R (y @
215 (2) @
V) T g AT SR ¥ SR gE H A A Q)
(3) At <t € 2 & A fag T @ FRd @
@) ST ST BT e A A | (5) ST T
(5) SR FE & =
s, fau e AT ¥ e fase § fam =@ = waias
70. ﬁmmnaﬁmq@mamaWI i SR AT T § 2
it s o e S9a HE-fAPE 1) TWIE A
(1) wEseEd @) T, IR S e 7 =
@) =T (3) i 3T Ty 3" FE T w2
8) e+ s (@) FH W@
&) eI (5) I T & =Ed
%w Rl HWW ROUGH WORK Page 17
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76. o 3 f ford 3 FAEATEET o 7
(1)  3marmen
(2) O
(3) Teaw
(4)  FA \
(5) 3w N
77. e T § fa (T T YA §
(1) 5500 - 6000
(2) 6000 - 6500
(3) 6500 F fF
4) 5000 - 5500
(5) S E & =med
78. e § feg ad ' dEy TR T s5g dre
IF FI T G172
(1) 2017-18 r
(2) 2011-12
(3) 2019-20
(4)  2015-16
(5) SR =R
79. {9 W W favred wiee SR fom £
(1) TEm
(2) T
3) T
(4) TErE
(5) SWTE T 9w
80. TW H Y= F T WG Ao ehEmn § wEe
fafasfo &in o1 dem W T 35 82
(1) HU 9 39 faaq
(2) <« vifs AfvEm
(3)°  9YH T FHE Ao
(4) ufd g2 s waa
(5) IO Tl < ARy
81. = F fohe A e fratem i )
(1) 10
2 11
(3) 12
4 9
(5) W TE <A1 =Ed
TNAVH /Ea

76.

77.

78.

79.

80.

81.

In which district of Harvana is Tilvar Lal,
located ?

(1) Ambala

(2)  Panipat

(3 Rohtak

(4) Kaithal

(5) Not attempted

How many (approximately) Village Panchavats
does Haryana State have ?

(1) 5500 -6000

(2) 6000 - 6500

(3) more than 6500

(4) 5000 - 5500

(5) Not attempted

In which year was “Deenbandhu Harvana
Gram Uday Yojana” launched in Harvana ?
(I) 2017-18

(2) 2011-12
(3) 2019-20
(4) 2015-16

(5)  Not attempted

Where is the Heritage Transport Museum
situated ?

41)  Gurugram

(2) Kurukshetra
(3) Karnal

(4) Rewari

(5)  Not attempted

Which scheme launched recentlv focusses on
crop diversification and water con servation in
Haryana ?

(1)  Mera Pani Meri Virasat

(2)  Jal Shakti Abhivan

(3) Pradhan Mantri Samman Yojana

(4  Per Drop More Crop

(5)  Not attempted

How many Lok Sabha constituencies are there
in Harvana ?

gd) 10
2) 11
3) 12
@) o

(5)  Not attempted

T B % forw zemer / SPACE FOR ROUGH WORK
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82

8.

84.

85.

(1] W
@) UG
@)
(4) PRER]

5 ST &

gﬁmmmﬁ‘aﬁ'ﬁﬂfm A 3 .
ferd B 7 AR ! 5

~

(1) EEd
@ fo
@) far
@) gHd
(5) SR TRl <1 R
gt - 19 fou U o guwi g - o
gfmfera foell o |1 gofera it |

e - 1 eI - 11
@) HITER ()
(b) TEIH (i) = Ered
(¢ edh (iii) Te=TE
(d) = (iv) &

43 fou U T 1 STEM H g He IW I -
(1) (a)-(iii), (b)-(iv), (©)-(0), (d)-(i)

@ (a)-(iv), (b)-(ii), (c)-(ii), (d)-0)

B)  (a)-(ii), (b)-(iv), (c)-(id), (d)-()

4 (a)-(iv), (b)-(ii), (¢)-(), (d)-(E)

(5) SR o =

o 1 e, o g 1 A 6 A
g feran, for &1 g2 2

(1) 1962

(2) 1965

(3) 1966

4) 1961

82.

83.

84.

85.

] ’ . -
Where is Chor Gumbad situated ?

(1)
(2)
&)
(4)
(5)

Gurugram
Faridabad
Narnaul
Palwal

Not :nlvmplml

Where is the most important Centre of
‘durrie’ making located in the State of
Haryana »

)
(2)
(3)
(4)
(S)

Panipat

Sirsa

Bhiwani
Sonipat

Not attempted

Correctly match the Administrative Divisions
in the List - I with the Districts included in

the List - II.

List - I List - II
(a) Faridabad, (1) Panipat
(b) Gurugray(ii) Charkhi Dadri
(c) Rohtak —/ = .(iii) Mahendragarh
@ Karnal.” ‘fiv) Nuh

Select the correct answer using the code
given below :

(1)
(%)
@)
(4)
()

(a)-(iii), (b)-(iv), (c)-(i), (d)-(i1)
(a)-(iv), (b)-(iii), (c)-(i1), (d)-(1)
(a)-(iii), (b)-(iv), (c)-(ii), (d)-(1)
(a)-(iv), (b)-(iii), (c)-(1), (d)-(ii)
Not attempted

The reorganisation of Punjab that established
Haryana as a full-fledged State, took place in
which year ?

(1)
(2)
(2
(4)
()

1962
1965
1966
1961
Not attempted

(5)  zww ¥ &= =ed
TNAVH /E4 zq;amfai%ﬂ'.’zana/SPACE FOR ROUGH WORK
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86. it 4 gfa ad et . THT" 31 7 | 86. Where in Harvana ‘Geeta Jayanti Mahotsa

is celebrated every year ?

ST & 2
(1)  Surajkund
(1) J&EFTe
(2) fasim (2)  Pinjore
(3) Sultanpur
3 g
:4: EaEl () Kurukshetra
(5) WG o =d (5) Not attempted

87. fwg wfamon & FEaa 3R e =5 qdwfg 3 | 87. Whois known as the Shakespeare of Harvana

and Suryakavi of Haryana ?

FY H S S € ?

(1) vfeq @A (1) Pt. Mangeram

(2) diea (2) Banshilal

(3) TWige A (3) Ramsingh Nai

(4) T EE a9 (40 Dada Lakhmi Chand

(5) Not attempted

(5) I N =wed

88. EfMN F1 g gl T ? 88. Which is the State Bird of Harvana ?
(1) £ (T2 gHfaa) (1) Great Hornbill
(2) HRAE T=IE (2) Indian Bustard
3) Teuredt 5ra (3) Himalayvan Monal
(4) vy Hapifer (3) Black Francolin
(5) I Tl <1 9Ted (5) Not attempted

89. VA |l Yok, ST X SR @ o7 sywedi | 89, Where is the National Academy of Custom,
Fel g § 2 Indirect Taxes and Narcotics located ?
(1) Teaw (1) Rohtak
2) fear () Hissar
(3) HEER (3) Faridabad

(4) Panchkula

:Z; 3?1'{ el <1 =9ed (5) Not attempted
90. EfA T FalfHF T AT el H41 ¢ 2 90. Which is the most populous city of Haryana ?
(1) W (1) Gurugram
(2) THITER (2) Faridabad
(3) TEFel (3) Panchkula
4) gad (4)  Rohtak
o I TR <A1 =ed (5) Not attempted
(5)
TNAVH/E4 I BT o feru el / SPACE FOR ROUGH WORK Page 20
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01, I TE et Hi M B HHETEAT Fen
FIAY @EI 7
(1) @it &ell
(2) fufaf=a
(3) @
(4) e i
(5) IR T & e
92. ﬁqu@a—m'-ﬁmfﬁﬂﬁm:
(a) feqmon # gfe® I F 3d sfamd e
qaifee 9 w9 98 1 Al T 2 g
(b) gﬁmnuq?agﬁmmzl
m@aﬁﬁ@aﬁ'—lm/ﬁwuﬁé/ﬁ?
(1) FADH)
(2)  (a) 3 (b)
(3) AT (a) AT (b)
4) FF@
(5) IW el <A1 HEd
03. wHEN Wi gfe F wfEmn #1 vrd § wE-T
®?
(1) 17
2) 18
3) 19
4 16
(5) SR < =R
04, Fefafaa § @ efamn &1 SFa foen ToeH
e FH1 T TE w4 € 2
(1) Jeasw
2 fart
(3) Te=TE
(4) o
(5) SR Tl <A =
95. T qEIR 3 T T 3 SR T oA fE F Fe SHed
% el wEhE fe iR 1857 § Nl & WIS
& ?
(1) 3=
(2) TR
(3) Teaw
(4) TEER fEen
(5) W TR T =R
TNAVH /E4

91.

92.

93.

94.

95.

Mata Mansa pevi temple is home to which
form of contemporary art of Harvana ?

B Worli Art

(2)  Bhiti Chitra

(3) Dhokra

(4)  Pattachitra

(5)  Not attempted

Consider the following statements :

(a) A Police Range in Harvana is headed by
an officer not below the rank of
Additional Director General.

() There are five Police Ranges in
Haryana.

Which of the above statement/s is/are

correct ?

(1)  (b)only

(2) Both (a) and (b)

(3) Neither (a) nor (b)

(4) (a)only

(5) Not attempted

In terms of population size, Haryana comes
at what rank in India ?

H 17
(2) 18
(3) 19
(4) 16

(5) Not attempted

Which one of the following districts of Haryana
does not share border with Rajasthan ?

(4 Rohtak

(2) Bhiwani

(3) Mahendragarh

(4) Sirsa

(5) Not attempted

Where did Rao Tularam, along with Rao Gopal
Dev and Rao Dhan Singh organise the Ahirs
and fought.against the British in 1857 ?

(1) Ambala
(2) Jhajjar
(3) Rohtak

‘;1) Nasibpur fort

(5) Not attempted

<% @7 3 fero TaTe / SPACE FOR ROUGH WORK
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el T HLe] SR (W)%aﬁﬁﬁﬂfﬂf@ﬁ

96.
o W AR @I
(@) e @ SHeEstd, T & S §
2
(b) R & SregEidt TR ¥ Sugd 3
FHEI
et B SA-T/8 T WG /0
() FEa®
@ (@) 3RO
3) TR () FRAT (b)
4) F9d (@)
(5) W?ﬁﬁm
o7. WG ® & N WiEHT I Aiwl U Fel st § 2
(1) swEw
(2) SrFEA
(6) W@
(4) S
(5) ST MERY B
og8. fr=fafea 3 | i@ &1 sFe e g sw #
fem 2 '
(1) =g
) Fo
(3) wuS
(4) TR
(5) T el <A1 = ed
99. fi=fafEa FyuFi W faur =ifaw :
(a) e 3 oS 2R Y E ST
(b) @ 3 vEwar St 2T S )
=9dF H A FH A T W e/ ?
(1) %5 (b)
(2) (a)_afn (b) ?Fﬂ
(3) A (a) A (b)
(4)  FA (a)
(5) =W FE 2 =ed
100. #framm & frefafaa faenfzdi 4 4 faga 2020 1
TS W T 736 T G STl 41?7
(1) faqor wmme _
@ A oMY
(3) e g |
(4) faa=z fuz
(5) W T A TwAa
r00o0-
TNAVH/E4

Consider the following statements about Grog,

State Domestic Product ((:‘:S[)I') :

(a)  GSDP of Haryana is less than that qf
Punjab. .

(b)  GSDP of Haryana 1S less than that qf
Rajasthan.

Which of the above statement/s is/are

correct ?

(1) (b)only

(2)  Both (a) and (b)

(3)  Neither (a) nor (b)

(4)  (a)only

(5) Not attempted

The only surviving steam Loco Shed in India
is in :

(1) Ambala

(2) Sonipat

(3) Rewari

(4) Panipat

(5) Not attempted

Which one of the following is the
northernmost district of Haryana ?

(Y Panchkula

(2) Kurukshetra

(3) Kaithal

(4) Yamunanagar

(5) Not attempted

Consider the following statements :
(a) Haryana has never won Ranji Trophyv.
(b) Haryana has won Irani Trophy once.

. Which of the above statement/s is/are

correct ?

(ly  (b)only

(2) Both (a) and (b)

(3) . Neither (a) nor (b)
(4)  (a) only

(5). Not attempted

- Who among the following players from Haryana

won Major Dhyan Chand Khel Ratna Award
20207

t1)  Vinesh Phogat

(2)  Deepa Malik

(3)  Sushil Kumar

(4)  Vijender Singh

(5)  Not altempted

~-00o0-
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